T
T @ @ @ @ @ b @ [ @ @ @ @ @ @ @ @/ T
>
TYPICAL RAILING PLAN VIEW .
131'=0" = PAY LIMIT ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM
27'-4 1/2" 23'-11" 23'-11" 28'-2" 27'-4 1/2"
!4)}»6—— 2" EXP JOINT @45 1= 3/4” FIXED JOINT (typ) 2" EXP JOINT @45 -————>%-!
c Il r 11 L1 11 11 — 11 11 11 11 - L1 L1 r L1 L1 A 3
HH 11 11 11 11 | | 11 L1 L1 41 11 1 HH
I - | 1 | 1 It H
J:' |4Ll 11 11 Il x 11 11 L1 11 | | 11 v 11 11 L1 x 1 11 11 11 1 1o
|
Jf—o” (16) SPACES ® 8'—0" = 128'—0" 3'=0’
LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROAD
BOTH SIDES TYPICAL
BILL OF MATERIAL
ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM (262 LF)
Qty mk Description Spec.
34 BRIDGE RAILING POSTW6 x 25 x 3-5.375" OAH WITH 1 x 10 x 14 BASE PLATE (GLV) A709 gr 50
8 SPLICE TUBE (FOR 8X4 RAIL) HSS 7 x 3x 3/8 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) | A500 gr B
24 SPLICE TUBE (FOR 4X4 RAIL) HSS 3x 3x 5/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) | A500 grB
4 L1 |RAIL TUBE 8 x 4 x 5/16 (GALV) 27'4.500" LG A500 gr B
4 L2 |RAIL TUBE 8 x 4 x 5/16 (GALV) 23-11.000" LG A500 gr B
2 L3 |RAIL TUBE 8 x 4 x 5/16 (GALV) 28-2.000" LG A500 gr B
12 L1 |RAIL TUBE 4 x 4 x 1/4 (GALV) 27'4.500" LG A500 gr B
12 L2 |RAIL TUBE 4 x 4 x 1/4 (GALV) 23-11.000" LG A500 gr B
6 L3 [RAIL TUBE 4 x 4 x 1/4 (GALV) 28-2.000" LG A500 gr B
34 ANCHOR SPACER PLATE PL 0.375 x 13.000 x 9.375 A709 gr 36
138 ANCHOR STUD DBL END PART THREAD - 1" DIA x 14.000 LG (GLV) A449
276 HEAVY HEXNUT 1" (GLV) A563 DH
138 ROUND WASHER (SAE) - 1" DIA SMALL (GLY) F436
138 JAM NUT 1" (GALV) A563 DH HIGHWAY SAFETY CORP
GLASTONBURY, CT
272 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) A449 | A325 860-633-9445
272 LOCK NUT 3/4" (GLV) A563 DH ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM S CERTIFIED |
w « ITEM 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM >Q
272 (3/4") PLAIN ROUND WASHER TYPE A (GALV) 0.750" DIA USS LARGE (HI-CARBON) F8a4 TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR|
128 (5/8") HEX HEAD BOLT (GALV) 0.625" DIA x 1.750" LG. A325 TOWN OF LINCOLN, VT ADDISON COUNTY
128 (5/8") PLAIN ROUND WASHER (GALV) 0.625" USS LARGE Faa4 — B 0188 (8) 041
64 3/4" SPACER PIPE 0.750" DIA. (SCH 40) x 1/2" LG. A53 gr B A_| miscallanacis Tevew corrachons LY/uly <
34 BEARING PAD 0.125" THICK x 10.000 x 14.000 (NEOPRENE 80 duro +/-10) aashto M251 | — —= 7 T AFAYETTE 1 of 4
REVISIONS AR | T ™ 03_27-15 [ wone ["* D




0.813" HOLES IN POST

%’6 HOLES
T_g ¢ RAIL POST IN RAIL (TYP.)
BN 134% 134" TS 4 x 4 x 1/4 g@ !lyzi‘ 8 (TYP)
R | l =
~T T
— \ - oy =+ IRE
1l
: ' ] — , : ::
R N I TS 4 x 4 x 1/4 e =
% B L “ ] N N} - ii
. | I | %g' N 1
— SE ~ 1010, ? Tl olo
o X 257 : ' I " 1S 8 x4 x5/16 ) ”
RAIL POST . : : < 4 x N I
N o~ Y > . o 2 Vad i
= 10 = NS Il | Z =
~© S = H o) T ~ il O {0
3 © © ~ | | RN IS
ik : 1 e ol | T
R R ] T " 00 Lo <= i M| 1n
I ol 0.687¢ HOLE Lo
0.75”¢ ROUND HEAD' BOLT WITH L 5 L FOR REFLECTOR i
HEX NUT & TYPE A WIDE WASHER / . SN : I TS 4 x 4 x 1/4 i
(MIN. .813" 1.D., 2" 0.D., .156” THICK) - i I
(8) PER POST (typ) | I | 1
FIELD DRILL 7/8"% HOLE IN TUBE —|f- ) % Jz lollo] % oio
SEE NOTE #6 L I
) o | n — !
™ R = i = i
i — .| I # ] . I L ]
| i
” . FRONT POST ELEVATION
tef | |
N—1"p ANCHOR ROD (TYP.) 4 A 4 v 3
ANCHOR PLATE —1 . ‘ ’ . 4 : TS 7 x3x %
7 5/8" |6 3/8 - 44 5,
/ | / | 10 \f\ jl\ A TS 3 x 3 x %s
2' PARTIAL RAIL ELEVATION %:m ¢ 578
3 TAPPED HOLE
SECTION VIEW "
9%, SPLICE TUBE 4"
: - . . SECTION - TS 8 x 4 x 5/16
SN 3% 1r5"@ HOLE (TYP.) { TS 4 x4 x 1?4"
= | |
T N : — SLOT OR Ol i
© C /6% ¢ HOLE = WRENCH HEAD o
.o {8
T + %" PLATE R R
il /— %0 x 1% %"¢ PIPE SPACER
© %" SLOT-i~ 15 Rl (SCH 40, /5" L&)
o -of . :
= | 6 TYPICAL SPLICE
1n 3 1n
15 15 STEEL HEX NUT AND ASSEMBLY
2 . ROUND HEAD BO
18 THREAD — 1” STANDARD WASHER LT SEE NOTE #6
4.500 LG TOP 1°¢ ANCHOR ROD (typ.
ANCHOR PLATE 2.500 .G BOTTOM (typ.)
5 b
J *_—JAMB NUT %" x "A" SLOTTED— TACK WELD LOCK
i HOLE IN RAIL TUBE (TYP. NUT AT OUTER
LA\ ANCHOR PLATE (TYP.) GUTER
63 STANDARD HEX NUTS %’¢ TAPPED HOLES X,
8 IN SPLICE BAR (TYP.)
10" As POST ANCHOR ASSEMBLY
%s V7 % I~1%4"8 HOLE (typ.)
T »%"8 DRAIN N
~ 2 B
\C S| we x 25 HOLE P Et2
N ; ﬂ e %6 x 1% CAP SCREW
N LOCK NUT L
N Tl
0 i H\ [ (OUTER HOLES ONLY) RAIL SPLICE Se€ NoTE #5
0 B v TACK WELD -
:N f) () 7776 J/ ;; d — "S}:LICE f{ ”EXPANS’ION JOINT TABLE
_ % =1 - " 5 e - e T
62" N INTERIOR 21/2" 4" 4" 2" 3/4" 1'-8"
13» 8 13» L ] %" PIPE SPACER
1 1 4 ] " " " " ” v "
16 1 NOTE: ST@ﬁgﬁEg SCH. 40 %" LONG (GALV) * <3 1/4 2 1/2 4 4 2 2 1'-8
NOTE: 5ot o, a5g \o) e = = — —
BEARING PAD TO HAVE SAME (
. POS,,T BA%'E PLATE SHAPE AND DIMENSIONS AS BASE SPLICE BOLT "T" = TOTAL REQUIRED MOVEMENT
17 x 107 x 14" BASE PLATE PLATE EXCEPT THICKNESS = 1/8" SECTION * = END SPLICE BAR

RAIL NOTES:

1. ITEM 525.34, BRIDGE RAILING GALVANIZED 4 RAIL BOX BEAM SHALL INCLUDE POSTS,
BASE PLATES, ANCHOR PLATES, ANCHOR RODS, PREFORMED PADS, RAIL ASSEMBLY
BOLTS, NUTS, WASHERS, STUDS, STRUCTURAL TUBING, SPLICE BARS, PIPE SPACERS, ALL
APPURTENANCES, AND GALVANIZING.

2. BRIDGE RAIL POSTS SHALL BE SET NORMAL (90 DEGREES) TO THE PROFILE GRADE,
EXCEPT ON GRADES OVER 5% WHERE POSTS SHALL BE SET VERTICAL.

3. ENDS OF RAIL TUBE SECTIONS SHALL BE SAWED OR MILLED AND SHALL BE TRUE
AND SMOOTH. ALL CUT EDGES OF ALL MATERIAL SHALL BE GROUND SMOOTH.

4. EACH PIECE OF RAIL TUBING SHALL BE ATTACHED TO A MINIMUM OF THREE (3)
POSTS.

5. BOLT HOLES SHALL BE DRILLED OR PUNCHED. FLAME CUTTING MAY BE USED TO
FINISH SLOTTED HOLES IF MECHANICALLY GUIDED

6. AT INTERIOR SPLICES, PIPE SPACERS SHALL BE USED ON ONLY ONE SIDE OF THE
SPLICE TO ALLOW MOVEMENT ON THAT SIDE, THE TOP AND BOTTOM RAIL SHALL RECEIVE
THE SAME TREATMENT, AT END SPLICES PIPE SPACERS SHALL BE USED ON BOTH SIDES
OF THE SPLICE TO ALLOW MOVEMENT ON EACH SIDE.

7. MILL OR SHOP TRANSVERSE WELDS SHALL NOT BE PERMITTED ON ANY RAIL ELEMENT.
RAIL ELEMENTS USED ON CURLERS SHALL USE 3/8" WALL TUBES AND SHALL BE SHOP
FORMED TO THE REQUIRED CURVATURE.

8. NO PUNCHING, DRILLING, CUTTING OR WELDING SHALL BE PERMITTED AFTER
GALVANIZING. EXCEPT AS ALLOWED IN DETAILS A & B. DAMAGED AREAS OF GALVANIZING
SHALL BE THOROUGHLY CLEANED, PRETREATED., AND PAINTED WITH TWO COATS OF
ORGANIC ZINC—RICH GALVANIZING REPAIR PAINT. HAVING MIN. 94% ZINC BY WEIGHT.
TO A THICKNESS EQUAL TO THE ORIGINAL COATING ACCORDING TO THE STANDARD
SPECIFICATIONS AND ASTM A780.

9. NUTS FOR 1"g¢ THREADED ANCHOR RODS CONNECTING THE BASE PLATE TO THE
CONCRETE SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN ADDITIONAL 1/8 TURN.

10. THREADS FOR ANCHOR RODS MAY BE ROLLED OR CUT. IF CUT THREADS ARE USED,

BOLT DIA. SHALL NOT BE LESS THAN NOMINAL DIA.. IF ROLLED THREADS ARE USED, ROD
DIA. SHALL NOT BE LESS THAN ROOT DIA. OF THREADS.

MATERIAL NOTES:

IN ACCORDANCE WITH SECTION 525 AND THE FOLLOWING:
1. STRUCTURAL TUBING SHALL CONFORM TO THE REQUIREMENTS OF SUBSECTION

714.11 (ASTM A500, GRADE B, STRUCTURAL STEEL TUBING) RAIL TUBING SHALL MEET

THE LONGITUDINAL CHARPY V—NOTCH REQUIREMENTS OF 15 FT/LBS AT 0" F. FOR
ASTM A500, GRADE B, THE TEST SAMPLES SHALL BE TAKEN AFTER FORMING THE
TUBES. CHARPY V—-NOTCH IS NOT REQUIRED FOR SPLICE TUBES.

2. RAIL POSTS AND BASE PLATES SHALL CONFORM TO THE REQUIREMENTS OF ASTM
A572 GR 50, EXCEPT ANCHOR PLATES MAY BE ASTM A36. SEE SUBSECTION 732.03

3. 3/4"0 ROUND HEAD BOLTS SHALL BE ASTM A325 OR A449. ALL OTHER BOLTS
AND NUTS SHALL CONFORM TO ASTM A307 AND ASTM 563 GRADE A RESPECTIVELY
OR BETTER. ANCHOR RODS SHALL CONFORM TO ASTM A449 EXCEPT THAT ASTM
A307 NUTS MAY BE USED ON THE BOTTOM OF ANCHOR ASSEMBLY. WASHERS SHALL
BE HARDENED STEEL COMMERCIAL TYPE A PLAIN WIDE WASHERS AND SHALL MEET
THE DIMENSIONAL REQUIREMENTS OF A.N.S.I. B18.22.

4. IN ACCORDANCE WITH SUBSECTION 726.08, ALL STEEL COMPONENTS SHALL BE
GALVANIZED AFTER FABRICATION IN CONFORMANCE TO AASHTO M232 (ASTM A153) AND
AASHTO M111 (ASTM A123). THE GALVANIZING KETTLE SHALL HAVE 0.05 TO 0.09
PERCENT NICKEL. GALVANIZED SURFACES SHALL HAVE A UNIFORM APPEARANCE AND
GALVANIZED MATERIAL SHALL BE PROPERLY STORED.

5. PREFORMED BEARING PADS (1/8” THICK) SHALL CONFORM TO AASHTO M251.

6. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE
DRIVER’'S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860-633-9445

ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM .
ITEM 621.73 GUARDRALL APPROACH SECTION, GALVANIZED 4 RALL BOX BEAM )g CERTIFIED
TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR|

TOWN OF LINCOLN, VT ADDISON COUNTY

HSC JOB NO.

BRF 0188 (8)

GENERAL CONTRACTOR

s08

LAFAYETTE

2041

SHEET NO.

2 of 4

DRAWN

PAR

CHECKED | DATE

03-27-15 |

SCALE

D

NONE i size




BRIDGE RAIL 29'—1" = LIMITS ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM

i
ITEM 525.34
INSTALL END CAPS ——
(TOP 3 RAILS) LOWER RAIL SHOWN
WOOD POST & BLOCKOUT / j‘-gL OPPOSITE HAND
POT P02 P03 P04 — ~ T~ I p—
X X X X, X X X X X
. r r r * {HHHHEAHR HH = H
j L i ==
S T
THRIE BEAM

8'-5 1/4"
7.687" TOP RAIL TERMINAL
SLOPE | 3.312 2ND RAIL

0.250” 3RD RAIL
0.000" Lower RalL  [CONNECTION,

| PLATE
3'-0" | (3) SPACES 2'-4" 12GA DOUBLE NESTED THRIE BEAM 12°—6" 6'-3" LAP_SECTIONS MITER CUT & WELD TUBE
— 622" - 6-6" L, T 70 GA TRANSITION IN DIRECTION OF TRAFFIC TO APROXIMATE 7’ RADIUS
L6 1/2" \= N BEAM 2 (2'=2" TYP CHORD LENGTHS SPACED
DETAIL Al [[] >_10” _@ T ) TO AVOID INTERFERENCE WITH POSTS)
SHEET 4 ._/’ - 2'-6"
ITT . ey S = =
| o X = =N (T :/_/l i - i i i S — O — =] i
211 1 - = S T | I — B —— 4 — I S— ;‘#
. . D A " = O e ' { USE DOUBLE ANGLED SPLICES HERE |
L M/ 7 l. .I I. .I I. .I I. .l\ - L] L1 1 1 1 1 1 1 |_| L END CAP LOWER RAIL 10" FLAREBACK x 4° ANGLED DOWN
LT 711 I || ] 1 T TT 1T 1T TT T | 1 I »jf%f—f’
\// 1 | i | )
‘ L i i i , ) \ o | o . . y - ,
o Dl ! 4 (6) SPACES @ 1'—6 3/4 3-11/2" | 3-11/2" | 31172 6'-3" (typ) 18'—6
TOP RAIL | L5 b Pl S : =9-41/2 INSTALL END CAPS 1-6
1 I
b i b Ul 2" EXP JOINT ~—>¥e
2ND RAIL | LB ; i : i i . SPLICE LOWER RAIL
| I o £
3RD RAIL D I . :
i L;/ P |
Al = - Ll o < ‘ )
BOTTOM RAIL Ld APPROACH RAIL @ W.W. 2 & 3 I : - . : .
W.W. 1 APPROACH RAIL IS SIMILAR BUT OPPOSITE HAND ] ] = = ] L
— !
T . i i i i i i
BILL OF MATERIAL 7% SLOPE | YR L ] o N U N
S
ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM (3 EA) ! Lol | N L | | o { ! L
11 (] [ ol
Qty mk Description Spec. i o P . U i I b
3 P01 |W6x25 APPROACH POST - #1 x _8-8" OAL (GALV) AT709 gr 50 i . D b P D D o
3 P02 |W6x25 APPROACH POST - #2 x 88" OAL (GALV) A709 gr 50 10 deg FLAREBACK P . P b P . P b
3 P03 |Wex25 APPROACH POST - #3 x_8-8" OAL (GALV) A708 gr 50 / i I P L 0 Ll L LJ
3 P04 |W6x25 APPROACH POST - #4 x 88" OAL (GALV) A709 gr 50 R i L] Ll [ L
1.750 IS i L
3 L5 |UPPER RAIL APPROACH TUBE TS 4 x 4 x 1/4" (GALV.) 94.000" OAL A500 Gr. B , 2'-0" (7) SPACES @ 2'-2" = 15'-2" 30"
3 L6 SECOND RAIL APPROACH TUBE TS 4 x 4 x 1/4" (GALV.) 9“4.000" OAL |
3 L7 |THIRD RAIL APPROACH TUBE TS 8 x 4 x 5/16" (GALV.) 94.000" OAL AG00 Gr. B -
3 L8 |LOWER RAIL APPROACH TUBE TS 4 x 4 x 1/4" (GALV.) 8-11.625" OAL AG00 Gr. B 1-8 BILL OF MATERIAL APPROACH RAIL @ W.W. 4
2 L9R _ |RIGHT HAND FLAREBACK TS 4x 4x 1/4 (GLV) 27-0.4375" OAL A500 Gr. B TOP VIEW
1 LoL LEFT HAND FLAREBACK TS 4 x 4 x 1/4 (GLV) 27-0.4375" OAL AS500 Gr. B NOT TO SCALE ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM (1 EA @ WW 4)
HOWING 1
3 CONNECTION PLATE PL 0.375" x 20.000" x 27.000" (GALV) A709 gr 36 SHOWING Odeg ANGLED FLAREBACK Qty mk Description Spec.
3 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4.000 w/ WELDED TABS (GALV) A709 gr 36 (TYPICAL ALL SPLICES AT WW4 APPROACH) 8 | WW4 |[W6x25 APPROACH POST x 8-8" OAL (GALY) AT709 gr 50
9 END CAP FOR 4x4 TUBE 0.187 THICK PLATE 4.000 x 4.000 w/ WELDED TABS (GALV) AT09 gr 36 SEE SHEET 2 FOR ADDITIONAL SPLICE DIMENSIONS 1 DBL ANGLE SPLICE (FOR 8X4 RAIL) HSS 7x3x3/8 x 1-8.000" OAL w/ TAP HOLES & 2 WELD NUTS (GLV) (flareback 10 deg/angle 4 deg) | A500 grB
3 top rail SPLICE TUBE HSS 3x 3x 5/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angled down) AS500 g B 3 DBL ANGLE SPLICE (FOR 4X4 RAIL) HSS 3x3x5/16 x 1-8.000" OAL w/ TAP HOLES & 2 WELD NUTS (GLV) (flareback 10 deg/angle 4 deg) | AS500 grB
3 2nd rail SPLICE TUBE HSS 3x 3 x 5/16 x_1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angled down) A500 gr B
3 3rd rail SPLICE TUBE (FOR 8X4 RAIL) HSS 7 X 3x 98 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) straight A500 g B ~ 7 4 |RAILTUBE 8 x 4 x 5/16 (GALY) 16.6.000" LG miter cut & weld for 7 radius AS00 gr B
3 bottom rail SPLICE TUBE (FOR 4X4 RAIL) HSS 3x 3x 5/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) straight A500 gr B % 3 L4 |RAILTUBE 4x 4x 1/4 (GALV) 18-6.000" LG miter cut & weld for 7" radius A500 gr B
S 4 deg ANGLED
i: &R \v,:,lgg :Sggfgui);:g; ‘;‘;‘;‘;?f Leam Wl ab rall hole) m;;g / DOWN 1 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4.000 w/ WELDED TABS (GALV) AT09 gr 36
. : i . 709 gr 36
3 TR TWOOD POST 6 x 8 70" (or e Tamsilion w rab Tal o) TBER [ L_, ' 3 END CAP FOR 4x4 TUBE 0.187 THICK PLATE 4.000 x 4.000 w/ WELDED TABS (GALV) AT709 gr
3 WOOD BLOCKOUT 6 x 8 x 18.000 TIMBER § _
3 R WOOD POST 6 x 8 x 70" _(for w-beam rail w/ rub rail hole) TMBER gz Eggg%&f@gﬁgf\;ﬁon slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) A:ASZQP‘S(:{ZS
s WOOD BLOCKOUT 6 x & x 14.000 TMBER FRONT VIEW 64 (3/4") PLAIN ROUND WASHER TYPE A (GALV) 0.750° DIA USS LARGE (H-CARBON) Feda
NOT TO SCA
i CALE 16 (5/8") HEX HEAD BOLT (GALV) 0.625" DIA x 1.750" LG. A3%5
30 WOOD BLOCKOUT & x 8 x 4.000 (for rubrail blockout) TMBER (TYPICAL 3x3 SPLICES AT WW4 APPROACH) 16 (5/8") PLAIN ROUND WASHER (GALV) 0.625" USS LARGE Fed4
SHOWING 4deg ANGLED DOWNWARD 16 3/4" SPACER PIPE 0.750° DIA. (SCH 40) x /2" LG, A53 or B
3 THRIE FLAT LIP BRIDGE SHOE (MODIFIED) 10 GA. GALV aashto M180 B2
3 THRIE TRANSITION PANEL 6-3"/ 3-1 1/2° 10 GA. GALV. aashto M180 B2
6 THRIE PANEL 126"/ 16 3/4" 12 GA. GALV. aashto M180 A2 % H | G H WAY S A F E -II— Y C O R P
S 4 deg ANGLED DOWN GLASTONBURY, CT
120 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) Ad449 ] A3Z5 / 860—633_9445
120 LOCK NUT /4" (GLV) A563 DH =
: i — ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM .
L (S/41) PLAIN BOUND WASHER TYPE ALGALY) 3750 DIA VS8 LARGE (HICARBON) e B ITEM 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BeaM | )3 CERTIFIED
48 (5/8") HEX HEAD BOLT (GALV) 0.625" DIA x 1.750" LG. A325 3 i1 EAST RIVER ROAD. BRIDGE #19 2 FABRICATOR
8 (6/8") PLAIN ROUND WASHER (GALV) 0.625" USS LARGE F84d # a1y
48 3/4" SPACER PIPE 0.750" DIA. (SCH 40) x 1/2" LG. AG3 gr B TOWN OF LINCOLN, VT ADDISON COUNTY
3 ROUND HEAD POST BOLT siot or wrench head - no shoulder 3/4" DIA x 2" LG. (GLV) w/ HEX NUT A449 BRF 0188 (8) e 08 o
48 ROUND HEAD POST BOLT - oval shouider 5/8" DIA x 1-8" LG, (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 FRONT VIEW [cewemaT conacToR 2041
36 ROUND HEAD POST BOLT - oval shoulder 6/8” DIA x 1-6" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 NOT TO SCALE ST CORTRACTER SHeET .
96 PANEL SPLICE BOLT 5/8 x 1-1/4" (GALV) w/ DOUBLE RECESSED NUT A307 (TYPICAL 7x3 SPLICES AT WW4 APPROACH) ) LAFAYETTE 3 of 4
84 RECTANGULAR PLATE WASHER 0.187 x 1.750 x 3.000 (GALV) A709 gr 36 SHOWING 4deg ANGLED DOWNWARD RN o R CHECKED | M Gz o7 45 |SCALE NONE |s:zz D




CONNECTION PLATE |

3" ROUND HEAD

BOLT 6” LONG w/ HEX

NUT & WASHER (t . %0 x 14" LC.
CL WOOD POST 5/16 o gFFXSE? Bvlgga EEIIT(?EN B%EGD (20) TYP
o 1o . 6" x 8" WOOD POST .
/ — - = 8" 8 5/8"¢ POST BOLT 29, 7 " . .
v n P [ %2" x 14 3,
2'-4 7 / ok WITH PLATE WASHER, ot SCRTTED POLES X2 es
CL W6 x 25 POST , . h N e DBL RECESSED T (20) LOCATIONS (typ) 5) LOCATIONS (&
8" -0 3/4 3/8 —] > HEX NUT & ROUND WASHER () () 4ln 4l
OUTLINE OF TERMINAL  CONNECTION N 2 . |
QONNECTOR PLATE S oy Y 20" LONG AT DOUBLE NESTED RAILS
PRI (] -'—= hy 18" LONG AT TRANSITION PANEL l
= el S 5T o
e @ T oo || 5/8"¢ POST BOLT x 18" LONG . o | :
' ([ i (E —- e _b/ WITH PLATE WASHER, o == Gl
I Y I ot et -2~ DBL RECESSED HEX NUT - oo -
. 2 o 0 Lo & ROUND WASHER o | o
JORRCO] i . e ™ i
| I e w %" ROUND HEAD Hh£— : - i
=== - BOLT 2" LONG w/ ~ S T LOWER RAIL TUBE 1
% & 4) $ HEXNUT(typ) = ~ o o
e S RS ST B 5o | -1 |
- s == { | TIMBER OFFSET BLOCK » ' !
i e N9 ’ / ~= ' : FOR LOWER RAIL B3 7-3)
- ; L OUTLINE OF TERMINAL L0 2
CONNECTOR I w0 .
/ | \ R ol [ THRIE TRANSITION PANEL
;/ e ® ﬂ s \ LOWER RAIL 10 GAUGE (AASHTO M180 B2)
I L""}“"!’ -Jlf“ﬂ“-“ 4 x 6 TIMBER BLOCK
I »
©) i ’ ‘ \ — WITH (1) 3/4"¢ THRU HOLE
— FOR LOWER RAIL
! | | SECTION B-B SECTION A—-A
{ P 3/4 DIA HOLES IN WOOD FROM SHEET 3 FROM SHEET 3
CL 3/4 ROUND HEADA,__’__‘ FOR 5/8 DIA POST BOLTS : 8 T 8 8
1
POST BOLTS SPLICE BAR = nle Q
DETAIL A LOWER RAIL o] 0
FROM SHEET 3
13 (typ.) ! 5 2] I E Q2 ! §
T e v s 4 STEEL POST CHART o o s It
) 3 . z 1/8"x 1" x 1" TAB ) -y © 3
ELIMINATED FROM THIS VIEW FOR CLARITY N Tru (typ.) = ‘ No A B c 3-3/8 . w9 . - 90 : 3
{ | T + : g ’ R
s 9 1 | < PO1 [10.250 | 19.250 32.687 A o o
o - ’ ' o RS ' (typ)
d z &
I 2'—6" S| o | ™ -II—+ R .
| o| - | ‘ o P02 | 9.125 17.312 30.750 L ! GALV. HANG WOLE . *
— 0 R | . : IN ONE TAB ONLY o o™ ol
- K[ (5 o ol = R I P03 | 8.000 | 15.437 28.750 N g|? se sle
3/4" x 2-1/2" SLOTTED HOLES 8 1/2" | ! 1/16 S~ I~ I
"6 HOLES (2) LOCATIONS AS SHOWN\ 1" x 2" DIAGONAL o o P04 | 6.875 | 13.500 24.812 3T»/+11<:6K B B
9 ) SLOTTED HOLES END CAP (8x4) st
LOCATIONS (typ) B (12) LOCATIONS (typ) ’ | C X
. A : | e T
T \ = (8) magRl; 15%% | © i (8) 1.125" x 1.375"
E§L\\ N - 4 4 ! HORIZ. SLOT
w| " -7 2| = | ’ ORIZ. SLOTS
2 RN \ :: W6x25 POST™] | ! W6x25 POST
® "ile( = \ 1 5 | | by
- ® - 21 - | | 3-1/2" 1/8" % 1" x 1" A8 —
S | o e e - | \ . : 6.000 6.000
~ B ®| 2 | w (typ)
o | = L
N C VA & | . ‘ 5 "J_ %GAW NG HOLE 6 x 8 TIMBER POST 6 x 8 TIMBER POST 6 x 8 TIMBER POST
© 2" ' . } ' IN ONE TAB ONLY 316 WITH (3) 3/4"¢ THRU HOLES WITH (3) 3/4"¢ THRU HOLES WITH (2) 3/4"¢ THRU HOLE
S 8 1-0 3/4 3 | 1/16" THICK mk—4RR mk~—TRR mk—R
2'-6"
¢ ¢ END CAP__ (4x4)
TERMINAL CONNECTOR T T
10 GAUGE (AASHTO M180 B2) STEEL POST STEEL POST 5 s o NS
1 2 ™ 1 NI o I 3
AT WINGWALL 4 AT WINGWALLS ° J|" Ny 8 ] +_ ‘°l M S +, '\_L
Q 5 Q - <
yp 1,2 &3 2l = & T L
o~
T
3, 8" 1-0 3/4" 3 1747 6 x 8 TIMBER BLOCK
o 6 x 8 TIMBER BLOCK WITH (1) 3/4"¢ THRU HOLE
4" 4 g 6.000 WITH (2) 3/4"¢ THRU HOLES
P \ NOTES: 6 x 8 TIMBER BLOCK
- WITH (2) 3/4"¢ THRU HOLES
A . 1. ALL BRIDGE APPROACH RAIL MATERIALS, DIMENSIONS, SIZES, AND NOTES
. " x SHALL BE THE SHAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE
R o | NOTED. SEE BRIDGE RAIL SHEETS FOR NOTES AND ADDITIONAL INFORMATION.
® s @ ° . HIGHWAY SAFETY CORP
e 3 ANGLED SPLICE Elevation 2. CARRIAGE BOLTS SHALL BE ASTM A307, AND NUTS SHALL BE ASTM A563
3 —-————\ L\t K NOT TO SCALE GRADE A OR BETTER (GALVANIZED). GLASTONBURY, CT
e/ - 860-633—9445
oo i o . 3. WELD SPLICE BAR AND RAIL TUBES TO FIT BEND. USE COMPLETE JOINT
~ e °© = ANGLED SPLICE DIMENSION PENETRATION BUTT WELD (B-U2). ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM 5 5
< O SEE SHEET 2 FOR ADDITIONAL SPLICE DETAILS [TEM 621,73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM Pg{&gﬂgg
4. PAYMENT FOR GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM =
- CHAMFER)\ X SHALL INCLUDE THE TERMINAL CONNECTOR, THE CONNECTION PLATE, RAIL, THT EAST RIVER ROAD BRIDGE #19 )
\_1,,¢ HOLE () \ta/w HOLES NOTE: POSTS, BLOCKS AND ATTACHMENT HARDWARE. TOWN OF LINCOLN, VT ?D)D'SON COUNTY E—
THIRD SPLICE TO BE PROVIDED BRF 0188 (8 .
LOCATIONS (typ) ~ (2) LOCATIONS ONLY TOPSZF:’CE SECONJD;P“CE STRAIGHT DUE TO A VERY 5. ALL APPROACH SPLICES SHALL BE LAPPED IN THE DIRECTION OF TRAFFIC GENERAL 2041
CONNECTION PLATE . : SHALOW X" DIMENSION. 6. SEE SHEET 3 FOR ADDITIONAL MODIFIED APPROACH DETAILS AT WINGWALL 4 £ CFAvETTE s"mz;"‘ of 4
3/8" x 1'-8" x 2'=3" DRAWN PAR CHECKED lnn: 03-27-15 Isuu: NONE ]srzz D




